8 7 6 5

8 i 7 i
ENG F.20.0410-(FORM REV 4)

4 | T

3

2

1

NOTES: (UNLESS OTHERWISE SPECIFIED) REVISIONS
SECTION HEIGHTS MAY VARY TO CREATE VARIOUS DOOR HEIGHTS, 20.8" MAXIMUM SECTION HEIGHT. 32537 | A . J
3. FOAMSTOP OR JAMB SEAL ON ALL JAMBS REQUIRED TO MEET NEGATIVE DESICN PRESSURES NALED 6" 0.C.. ADD NOTE 18: IBC/IRC 1/30/20] \
4. TESTED IN ACCORDANCE WITH DADE COUNTY PROTOCOLS TAS 201-94, TAS 202-94, & TAS 203-94.
5. DOOR SKIN MUST BE 25,000 PSI MIN. YIELD STRENGTH. FINISTOR/ 6 EAL M T/16° HOK, WALED BERY QN CRVTER —
6. JANB LOAD CALCULATIONS: 5 — — |
(1/2 DOOR WOTH)(1 FT OF HEIGHT)SDESIGN PRESSURE) C \ j
4,567)(1 FOOT)(46.00 AND ~52.00)(210.082/237.484) B.
1. A8 ASTEAER RS 008 ) TOBE ok A e AORD T T Go0 W ok u
Fx=g {72432053 SWIDTH)(1 FT OF HEIGHT)(DESION PRESSURE) MO (4) s-155/” SRES JIENE MO (4 &-15i8/8°
| 8 DOOR'SKIN MATERIAL SHALL BE GALVANIZED ACCORDING TO ASTM A-525 TO 90 MIN, WITH BAKED-ON PRMER, AND BAKED—ON POLYESTER PANT TOP COAT -
9. FOR ANCHORING INTO WOOD,USE ONE 5/16™ LAG SCREW PER JAMB BRACKET WTH 1-1/2" EMBEDMENT INTO SOUTHERN PINE (6=0.55) OR BETTER. Do
10 APPROVED INSULATED AND NON-INSULATED: 170 (25GA), 180 (256A), 0.0209° MIN STEEL :
. WELD SLOT ON ANGLE AND 3/32° X 1" LONG ON 12" CENTERS. "IF WELDING MOUNTING OPTION IS CHOSEN."
12 UFT UP MECHANISM-MANUAL, CHAN LIFT, OR OPERATOR IS NOT PART OF THS APPROVAL
13, STANDARD LT, HIGH LIFT, VERTICAL LIFT, AND LOW HEADROOM TRACK IS AVALABLE. FOR LOW HEADROOM LIFT CONDITIONS TOP BRACKET SHALL BE 13 GA LHR 7/4 TOP
GRACKET WTH A MI OF (8 1/4 = 14 X 7/8" SELF DRLLNG CRWPTTE SCREVS N LU OF THE BRACKET SHOW ON ORAWNG. U-BAR ON TUP SECTION SHAL BE INSTALLED ON T0P mx STEL ECTON S
. ANGLE
14 ATTAGH STRUTS WTH (2) /& 14675 SELF DRLLING CRNPTITE SREWS AT AL STLE LOCKTONS, TYP. LOCATED WITN 6", 4/ 3" FROM TOP OF SECTON -
15. KEY LOCK, SUDE LOCK, OR DRAWBAR OPERATOR REQUIRED. e
16.  IMPACT RESISTANT GLAZNG OPTION~ IMPACT RESISTANT GLAZING SYSTEM NAY BE INSTALLED INTERMEDIATE SECTION OR TOP SECTION. GLAZING SHALL BE 1/4° POLYCARBONATE. 13-3/4" X
20-1/8" MAXMUM SIZE, FASTENED WITH # 8 X 1° SMS: 3X MIN ALONG THE HORIZONTAL AND 2X MN ALONG THE VERTICAL. SEE DETAL F~F ON SHEET 2 FOR ASSEMBLY DETALS. ECTON DD LB
17. THE DESION OF THE SUPPORTING STRUCTURAL ELEMENTS SHALL BE THE RESPONSIBILITY OF THE PROFESSIONAL OF RECORD FOR THE BULDING OR STRUCTURE AND IN e,
ACCORDANCE WTH CURRENT BULDING CODES FOR THE LOADS LISTED O THIS DRAWING. - SOALE1 - 4 i
18 DOORS ARE DESIGNED AND MANUFACTURED TO COMPLY WITH REGULATIONS PER BUILDING CODES: 2018 IRC AND 2018 IBC.
END BEARING BRACKET, STANDARD LIFT
SHOWN, LOW HEADROON CLEARANCE
AVALABLE ( SEE TRACK DETALS ON SHEET 3)
SHAFT D
-TORSION SPRING COUNTERBALANCE
| "“‘ VTG TRICYTTRICTTRITETR
NO-SULATON B [ | [RGB | !
I I TP FINTIRE
8.25
18.00 17135 1425 { 1 /_
| / e
1 LA 1 &
30 GAUGE STEEL COVER SHEET r @ 1 _‘—}
! [~ K} 15" MAX 0.C
PoLATH e 20 VL — A (e owy)
3" STRUT, 3°X206A L]
\ ' ~ 11l
20,80 e ¢
SECTION C-C \——1 PCF EXPLANDED POLYSTIRENE (EPS)
SCALE1: 4 —_—
OPTIONAL GLAZING ¢ »
NAX 1 WNDON PER = 1
STAWPED PANEL  ——| N )
{ONE Row OnLY) ' ] 1
SunE m(\ ! ! L
3.@ o ol _
e RIET % b E 1
S PLACDEN
:TQ‘E..Q.F..T.E)(“\ T s ' g N
SO AT o0 . :
;* J % *.‘ 15 GAUGE r BOSE—0o | . i
o 3 . ' . B
£ Po . *"’ VERTICAL TRACK £ SO — \ ¢} i8] 18] 1
/ JOHNE.SCATES J l’ 6 o : Al
e it 2 ” i -4
to. 56308 oS Rs
0.’90-.' </ o ‘(‘/‘,: Z.OOJ '
.lfé" ; 5 CENSeQ\t' 90" MAX WDTH B
\\\/\ONAL\ |
A UNCESS OTRERWISE_SPECIFIED APPROVALS DATE Trve commne tvcomsma 9501 S To12] BUS
5 LS e L i e B B
. - = + : p— -
JOHN E. SCATES, PE ALL DU ARE IN o 50 NATERA - A /175/180/181/185/ |
: 0 INCHES ANGULAR = £5 * — .
2360 KNG ARTHUR BLID f124-54 DO NOT SCALE s / FINSH 1400 N/1 500 90" MAX WIDTH
iqi i ’ Nan) < 0.251 =+,004/-.003 WINDLOAD SPECIFICATION SZEDWG Ko REV
B'aglc :-a% 25(;91n1egob%/ 7J62>2r; 1E 32?(';3?, P.E. - FLAPE 51737 TXS F;E 5L6308/F2203 R %ﬁﬁ% E%ﬁ&: ﬂsgg\tﬁ?ip e 0.251-500 =4 006/ 03 OPTION CODE 1104 D D-411043 A
' A VERFCATA 6 thotbio tRheTRULTEN B LS IN-PROCESS INSPECTION STANDARDS. (AL GEOMETRY GOVERNED BY' 50 CAD DATABASE: SCALE 1:12 | UOM = EA | SHEET 1 OF 4
5 T T


John
TX PE Box


8 7

4

2

NOTES: (UNLESS OTHERWISE SPECIFIED)

=4 EDGE DISTANCE

<—>’72,75" EDGE DISTANCE

3/8" X 3 LAG SCREW, WITH 1-1/8"
WASHER, MAX OF 24° 0.C., MIN
2-3/4" EDGE DISTANCE

i \
2 X6 43 5P (6=055)
(R BETIER

3/8" DIA. SIMPSON TITEN HD

7

FASTENER, MAX. OF 18°0.C., 2-3/4
MIN EMBED INTO MIN. 1500 PSI GROUT

)

FILLED CMU, MIN 4" EDGE DISTANCE

_ WOOD MOUNTED TO #3 SOUTHERN PINE SUBSTRATE

1-1/8" 0.0. WASHER

.
|z
__—

WOOD MOUNTED TO GROUT FILLED

MASONRY BLOCK DETAIL

4” EDGE DISTANCE

206 3 5P (6=059)
OR BETTER

1-12

3/%

‘—*,72.75 +1” EDGE DISTANCE

MIN 3/\6 THICK STEEL
FOR MOUNTING

\ 13 GA CONT.
WALL ANGLE
OPTIONAL: WALL ANGLE MAY BE

ATTACHED TO SUPPORTING STEEL WITH

5/16" X 1-5/8" LAG SCREW INTO MIN.

2 X6 43 S (6=0.55) OR BETTER. ( SEE
DOOR ELEVATION ON SHEET 1 FOR

HOLE LOCATIONS)

1/4-20 X 916"
TRACK BOLT AND
1/4-20 HEX NUT

TRACK CLIP
1/4-20 X 9/16"

DISTANCE

NI

TRACK BOLT AND
1/4-20 HEX NUT

-

AMN. (1) 1/4-14 X 1" SELF DRILLING
SCREW MTH 17 0.0 WASHER IN LIEU
OF WELDING. { SEE DOOR ELEVATION
ON SHEET 1 FOR HOLE LOCATIONS)

i

16 GA JAMB BRACKET

MOUNTING TO WOQD JAB MOUNTING TO STEEL JAMB
P DETAL

DETAIL

1" 00. WASHER

*(SEE DOOR ELEVATION ON SHEET 1
FOR HOLE LOCATIONS)

MOUNTING TO GROUT FILLED MASONRY

14GA BOTTOM FIXTURE
ATTACHED TO SECTION

WITH(4) 1/4-14 X 7/8" SELF
(10) 48 X 1" DR\LU G RIMPTITE SCREWS
s SHEETMETAL SCREW /DAYUGHT OPENING=9 3/47X15 7/8"

N

1/4" POLYCARBONATE

BLOCK DETAIL

SECTION E - E
SCALE 1: 4

11 GA TOP_FIXTURE COMMERCIAL
A-FRAME BRACKET

\

<—>’73” EDGE DISTANCE

246 43 SP (6=0.55) OR BETIER

2 ANCHOR OPTIONS:
1.)3/8" DIA. SMPSON TITEN HD FASTENER, 2-3/4"
MINEMBED INTO MIN. 1500PSI GROUT FILLED
CNU, MIN. 4" EDGE DISTANCE

2.) 3/8" DIA. HILT KWK BOLT 3, EXPANSION
ANCHOR, 2-1/2" MIN. EMBED, MIN. 4” EDGE

7/

1-1/8" 0.0. WASHER

WOOD MOUNTED TO 2500PSI
CONCRETE DETAIL

ANCHOR /
17 0.D. WASHER

FOR

MOUNTING TO 2500PSI CONCRETE

13GA ROLLER SLIDE ATTACHED TO TOP
FIXTURE WITH 1/4-18 BOLT AND NUT IN CENTER

DETAIL

3 ANCHOR OPT\ONS
%3% %MP ON_TITEN HD FASTI
M\ MBED INTO MIN' 2500PSI CONCRETE
CE
2)
/

ﬁi/& DIA. SIMPSON TITEN HD FASTENER, MAX. OF
24 0., 2-3/4" MIN EMBED INTO MIN 2500 PSI
CONCRETE, MIN. 3" EDGE DISTANCE

EDGE DISTANCE

ER
3 EDGE, DISTAN

. NN

3/8" DIA. HILTI KWIK BOLT 3, EXPANSION

‘NSC?XOR 2-1/2" MIN. EMBED, MIN. 4" EDGE

OO N

) 3/8 DIA. POWER LOK/BOLT, EXPANSION
‘Nsi EW 5/8" MIN. EMBED, MIN 4" EDGE

SEE DOOR ELEVATION ON SHEET 1

HOLE LOCATIONS)

13GA MIN. WIDE BODY END HINGES.
i #1 END HINGE IS 14GA.

ED_ W
RI

DeliB L gl » 778

2-3/41

CH
G
3 S—— { LB R R A SOt A0 H ARE IN-BOARD
GLASS BITE 0.5" [ \ I
INTERIOR FRAME PSR g ° 7/16” DIA. STEM TOP AND BOTTOM ROLLERS
6063-T6 ALUMINUM 5 7(
™ —o00r secron 14GA INTERMEDIATE HINGE )
ATTACHER Moot St ® \
WINDOW DETAIL DETAIL K —
DETAIL J DETAIL K
SECTION F - F SCALE 1: 4 : DETAIL H :
SCALE 1 : 4 SCALE T SCAE T 4 SCALE 1 : 4
;i >/TRACK OPTIONAL WALL ANGLE TRACK
13GA MIN 13GA MIN
T RTOE TRACK U TRACK TG R
~Sway o 1420 TRACK. OR ° WAL ANGLE o
~~1¢ OF TAN\ E Cﬂi@ifj/ ARRIAGE BOLT 11GA MIN TRACK
SRR, —c R LI e 4P 4
Pl )
P4 g . ‘ * 4-90 A OR 1/4=20 TRACK OR
. e [T : G U
/ JOHN E. SCATES ; 155 SRCkET . ] r
'--....-...'q --------------------- |:| 3/3
',;95;._ 56308 ‘g::’ TYPICAL TRACK AND JAMB FASTENERS DETALL DR R TR 2
— O'- < ." ‘(/’ —
(N6 .
\‘f S/Oifis\i c,f.' TYPICAL TRACK CLIP RIVETING DETAIL TYPICAL TRACK CLIP_BOLTING DETAIL TYPICAL TRACK CLIP WELDING DETAIL
NTUARS UNLESS OTHERWISE SPECIFIED APPROVALS — DATE G O350 S 1171 B
THIRD ANGLE PROJECTION . ~11= >/ EAD N )
b v [ e i gy 0
ALL DIMS ARE IN M= 20 APPROVED " IOESRPID
2560 KNG ARTHOR BLAD. 12454 INCHES el = 15" AFA\Q\TSEHR - R 75/’ §O/ 1185/
LEWISVILLE, TX 75056 DO NOT SCALE HOLES: -~ . 14OONWSOO 90 MAX WIDTH
FL PE 51737 TX PE 56308/F2203 DIMS CIRCLED WITH SYMBOL ' bR < =+.004/-.003 WINDLOAD SPECIFICATION SIZEIDWG  NO REV
PROFESSIONAL ENGINEER'S SEAL PROVIDED ONLY FOR FE&%R@TL@EAA;UE[% ﬁ%é%HAYPF[’]LE\E%LE Ml 8288 ioo% i I T V - !
VERIFICATION” OF WINDLOAD™ CONSTRUCTION DETAILS. IN-PROCESS INSPECTION STANDARDS, | AL GEOMETRY GOVERNED o CAD DATABASE: SCALE | \ UOM = EA \SHEU 2 0F 4
ENG F.?D.DMD*(FGRM REV A) ’ ‘ b ‘ ’ ? ¢ ‘

3

1


John
TX PE Box


8

NOTES: (UNLESS OTHERWISE SPECIFIED)

CENTER STILE AND INTERMEDIATE HINGE LOCATIONS

.................................

DOOR HEIGHT
«h STANDARD LIFT

TRACK DETAIL

HIGH LIFT
TRACK DETAIL

DOOR

=

DOOR HEIGHT

VERTICAL LIFT
TRACK DETAIL

HEIGHT

37 STRUT ATTACHED
EACH STILE LOCATION

DETALL O
SCALE 1 : 4

542 SECTION DOORS WITH
3" 20GA 80 KSI U-BARS
LOCATED AS SHOWN

SR BN AR R A 7 /8

LOW HEADROOM
TRACK DETAIL

E72 SECT\ON DOORS WITH
3 20GA 80 KSI U-BARS
LOCATED AS SHOWN

SS? SECTION DOORS WITH
6) 3" 20GA 80 KSI U-BARS

LOCATED AS SHOWN \

STRUT LOCATIONS

ENG F.20.041D-(FORM REV A)

1

S NS » : SCALE 1: 16
\WONAL EXs =8
\\\\‘ oo UNLESS OTHERW‘SE SPEC‘HED APPROVAB DATE The Genuine. The Original. 25m S TX*QW BUS
DOOR HEIGHT THRD AL PROECTON TOLERANCES: DRATN G.CLARK 1-11-19 | e & :
@—g A e X =4l CRECED 0 KORGT 1800 0 LEWSWLLE, TES
AL DINS ARE IN o= 100 APPROVED —  — DESCRPTID
JOHN E. SCATES, PE INCHES A = 2.0 MATERIAL - 170/171/175/180/181 185/
2560 KING ARTHUR BLVD #124-54 ANGULAR = £.5 FINISH - "
LEWISVILLE, TX 75056 — DO NOT SCALE HOLES: -~ . 14OONWSOO 90 MAX WIDTH
FL PE 51737 TX PE 56308 /F2203 DIMS CIRCLED WITH symBoL ' C < =+.004/-.003 WINDLOAD SPECIFICATION SIZEDWG  NO REV
PROFESSIONAL ENGINEER'S SEAL PRO/\/DED ONLY FOR FE&FQTEE{CERSCTSEAMLUEQ ﬁ%é%HAYPF[’]LE\E%LE Mlgggg iooaf 0 crI R TR V Ao i
VERIFICATION” O WINDLOAD™ CONSTRUCTION DETAILS. INZPROCESS INSPECTION STANDARDS,  [ALL CEOMETRY GOVERNED i) CAD DATABASE: SCALE 1:12 \ UOM = EA \SHEU 3 0F 4
E T 5 T 5 ? N . T 3 T



John
TX PE Box


8 7

NOTES: (UNLESS OTHERWISE SPECIFIED)
1. FOR DIMENSIONS AND NOTE REFERENCES, REFER TO INDIVIDUAL DRAWINGS.

6.51 :D: LENGTH = DOOR WIDTH -1"
555 1k 1.92
S N Y — e
T - Ve — — =K *
i z 5 g H % /\To a—l — - ' .034 THICK
TOP_FIXTURE ASSY. BASE TOF_HAIURE % 30 KSI W YELD %PTENENVGV%H(,U?’A@ 20GA

TOP FIXTURE DETAILS STRUT DETAILS

(=—2.24—= |
0 ( - — SECURED WITH (4) SCREWS 1/4-20 X 7/8"
® ——mm— 5.561
1 :99 U \ \ R.238
‘ . : f { 2.34 THROW
© X — ‘ 6; 7.38 o: 7.38 {7 0000
L 1.625 16111 Al
J&D@ j} <—L2.50J« o 9 | ©
) Dfis R D" REF. i
o7l L 75 221 100 150" THICK
% BRACKET, TOP, RES, LHR 300
e 12 A
# END HINGE / CENTER HINGES END HINGE
14GA 136A SLIDE LOCK ASSY.
BOTTOM FIXTURE DETAILS
HINGE DETAILS LOCK DETAILS
s ]
s REF 450" REF. | g pep[ 450" REF. | ] o
SNy I m{ 1.81 REF. ; m{ 181 REF. 18,07 o
"?\P:‘EOFTE‘Y;\\ ot 1 ot
’,’&_3..-- " |. : : - 74
4% . % 1.94
l’* : *" » " Q ' mgx $.31 o
S R R S L SR ISR L) ” ROLLER ASSY, 2" (STEEL RQLLER) ROLLER ASSY, 2" (NYLON ROLLER) 375 :
5' JOHNE.SCATES JANB BRACKET = L
o-.:. ......................... . :OII /‘6GA — A—Ai
s 56308 ot oy L
WOs. LopneaeD.. o BRACKET DETAILS
&5 ENSEL o ROLLER STEM ASSY DETAILS FLAG ANGLE
\SSTGRAL ENS 13GA
N etetg UNLESS OTHERWISE SPECIFIED FPPROVALS  DATE ] rve Gonaine toeorigmt- 501 S Ty—12] BUS
THRD ANGLE PROJECTION . 1= D ’
g Ve e s WSS e I g no
ALL DINS ARE IN Moo= E0 APPROVED — " IDESCRPT
JOHN E. SCATES, PE XX = £.010 MATERIAL - 170/171/175/180/181/185/
2560 KING ARTHUR BLVD #124-54 INCHES ANGULAR = £.5° FINISH - 1400/1500 9’0” MAY WIDTH
LEWISVILLE, TX 75096 DO NOT SCALE HOLES:
FL PE 51737 TX PE 56308 /F2203 DIMS, CRCLED WITH SYwBoL © C D <0.251 =+.004/-.003 WINDLOAD SPECIFICATION SIZE [DWG  NO. REV
PROFESSIONAL ENGINEER'S SEAL PRO/\/DED ONLY FOR CEATURES & MUST MEET APPLCPBLE B :88%:%8% I T ’ R !
VERIFICATION” OF WINDLOAD™ CONSTRUCTION DETAILS. IN-PROCESS INSPECTION STANDARDS. ~ [ALL GEOMETRY GOVERNED BY 3D CAD DATABASE: SCALE 1:12 | UOM = EA | SHEET 4 OF ¢

7 ‘ 5 ‘ 5 t . 4 3 2 1
ENG F.20.041D-(FORM REV A)


John
TX PE Box


	411043 SERIES 170_180, 9'0 MAX WIDE, 46,-52 PSF 1
	411043 SERIES 170_180, 9'0 MAX WIDE, 46,-52 PSF 2
	411043 SERIES 170_180, 9'0 MAX WIDE, 46,-52 PSF 3
	411043 SERIES 170_180, 9'0 MAX WIDE, 46,-52 PSF 4

		2020-11-30T17:25:44-0600
	John E. Scates, P.E.


		2020-11-30T17:25:54-0600
	John E. Scates, P.E.


		2020-11-30T17:26:07-0600
	John E. Scates, P.E.


		2020-11-30T17:26:17-0600
	John E. Scates, P.E.


		2020-11-30T17:26:31-0600
	John E. Scates, P.E.




